Vectorized operations continued... | R

Dt Learn / Data Science R Basics
(2] Exercise <

Vectorized operations continued...

We can use some of what we have learned to perform calculations that would
otherwise be quite complicated. Let's see an example.

® Instructions 100 XP

What is the sum of the following equation: 1 + 1/272 + 1/3%2 + ... + 1/10072
? Thanks to Euler we know it should be close to 72/6.

» Define an object x that contains the numbers 1 through 100

o« Compute the sum 1 + 1/272 + 1/37"2 + ... + 1/100"2 .

@ Take Hint (-30 XP)

https://campus.datacamp.com/courses/data-science-r-basics/vector-arithmetics-c83dabd1-fbbf-443c-bcf1-ee5ae5747afc?ex=2

script.R

1 # Define an object
2  x<-1:100

3 # Compute the sum
4 sum(1/(x"2))
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